Foaiglh (Percentage) - alleorm - aflemL (Q&A)

Answers given at the end of the page. or click on check answer link

1. 2(IH QUIT[HEM6ET €H.100 & QUMMEIH), €1H.125 &G MMTeL ML FHTHLD 6T6IRITE]?

a. 35%
b. 45%
c 25%
d. 50%

Check Explanation

2. @@ QUITLHenUN6T L85 alleme eh.56.50 LoMMILD LIQUMMenU6T @eurL F&eisn 25%
eTevfleL, 9iHS QuTLbemnuileT almm ellemevemulss &TeuoTds.

a. em.71.63
b. €5.69.99
. €m[.70.63
d. m.59.60

Check Explanation

3. 7500 LD&GH6T QGTenNs Q&MeoT HITINSH 6V LIS S aITE6T 47% 6Tedl60 LILG.& & TS 6 T8 6T
6T 600T 6001 | 8560V 85 6T &5 85 60) 60T ?

2975
4271
3975 GUIF
6587

o N oo

Check Explanation

4. olwmdlest LOMS eUIBLOMETLD Rs.12000. 96Ul CFLAGGLD Q&5 Memds Rs. 1200. Sjauflest G&LAILIL]
MM QFee6lT F&HeTHLN &ITeoTss.

Ga Il - 20%, QF6V6Y - 80%
Ga LI - 60%, QF6Va)] - 40%
GFLALIL - 10%, Q&F6ve] - 90%
Ga LI - 40%, Q&F6V6)] - 60%

o N oo

Check Explanation

5. A Wlest eu(pLomeoTLd B ulledT eu@BLOMeoTSHemS L 25% AH LD 6T6oflev B UlledT au(pLOMeoTLd A UlleoT
QUHLOITETS 6 S L 6TEUAIETE| GHeMMEY?

a. 10% Gemme
b. 30% GeMMaY
c. 40% Genme
d. 20% Gemmey

Check Explanation

6. @l emL_Uileotr allemev em. 2100 e BHS! €. 2520 3,5 AH&F1&H 6T 6T6vf 60, H &1L
F5655 56058 &ITe00Is.

20%
25%
15%
30%

o0 T

Check Explanation
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7.24.2 60 12% 6TedTLIG 14.2 6V 10% 6TaoTLIEN S 6T6IAIATE| SIFGHLN?

a. 1.484
b. 1.548
c. 1.682
d. 1.267

Check Explanation

8. @ euGLILemuiley 2 aTemaugertley 20% GUIT alQ el (DD 2 &TFSH6T 6016155 6T6T60T.
5ICUM6Y, 40% CUIT alQeUTHaUFL(OLD 3 STTS6T 606USSI6TETETT. LG (LO6TETeU TS 6T 62 (H6 (H & &
(h ST af5LD emeuSSIaTeTeT]. 98566 (h &M L (HGELD 6m6lU s Si6Tenel &6l er &5 6555560 60T 8
&IT600T 5.

48%
64%
35%
40%

o0 T

Check Explanation

9. (H 2GS Fevenallile) 30% SMATLD, 40% SISHBTSHLD, LG BleHHe0 2 6Tengl. 20 &).6) 2_6TerT
@B 2 CauTsHe Hevenallulley BlEH06T 6Te] WMS?

4 5.6
5 5.5
6 &.6
366

o 0N T o

Check Explanation

10. & 60011600118 G WLDEH 6L HOL QUMM CHITWN&S CHTalev 1500 HLIFSH6T 5560HSI )85 T600T L 60TIT.
@56V 12% BLTSET GSF6 Q& UIWLILIL LT 6Tevfl6V, 675 &56m6nT BLITS6T G5 6] Q& WL ILIL L 60TF?
GLOSYILD TS S eM60T BLITS6T CFHT6 QFUWILILILIL 6N606m6V 6T60TE &IT600TSs.

allemL : 180, 1320

200, 1300
180, 1320
400, 1100
120, 1380

o N T W

Check Explanation

11.7. Q& eTm 4,600T(H 62(H 6NV 8w L [flesT allemev eh.34,000. @H& 2u,600T(H @F60T ellemev 25%
Fo(HSVTREOTMSI. 35T (HlFH6V QFHTMNSHWD, QLOTEHS QG TENGHENULIL|LD &5IT600T5.
adlevL :

em. 11500, efp. 45500
em. 6500, €. 40500
em. 14000, erp. 48000
em. 8500, €. 42500

o 0N T o

Check Explanation

12. 240 el ML 15% @60 MEUITEOT 61600T 55IT600T .

204
215
214
225

o N oTw

Check Explanation

13. (b WIBeusooTiquilesT ellemev emp.1500 eTeoTml GG & LILIL (H6Tengl. @) & 6m60T €1h. 13508 @& ellmmITeV,
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H6TEBLIL. FFHeTHLN 6T60T60T?

90%
20%
80%
10%

o0 T

Check Explanation

14. @MUl @@ &HL(henFemnl em. 28.60 MG aUMmISR), LIMG& AHS &L (hemTenll em.27.40 &G ellMmITey
aUBHEG gOUBL el FH6T55 6058 &6 s.

10%
4%
3.15%
4.19%

o0 T

Check Explanation

15. @ PITNSH60 D&HE6T CGHTend 32,000. 3iaus6rflev 40% GLIT QL600TH6IT, 25% GLIT QLICOOTSH6IT
ISHLD 2 6TCETTT GHLOHeNSE6IT. 2,85 G6) JLE0OTS6T LDMMILD &L & SH6rTl60T 6T600T600f | &em & WIMSI?

a. QLeooT&HEIT = 12800 GUIT, GLOHeN&HE&H6T = 11200 GUIT
b. @eo0THeT = 11200 CUTT, GLLHMSH6T = 12800 GUIT
C. SLE0OTSHET = 12000 U, GLLBEMSSHET = 11000 GLIT
d. oLe00r&eT = 10800 GUIT, GLLHeNGHE&HET = 1200 GUIT
Check Explanation
Answers
1. 25%
2. €5.70.63
3. 3975 GQUIT

4. GadlLIL] - 10%, Q&F6V6e] - 90%

5. 20% &6mMm6Y

6. 20%

7. 1.484
8. 48%

9. 5 6.6

10. 180, 1320

11. em. 8500, efp. 42500
12. 204

13. 10%

14, 4.19%

15. SL600THET = 12800 CUIT, GLLHNSSH6T = 11200 GUIFT


https://www.easytutorial.in/question/47252
https://www.easytutorial.in/question/47253
https://www.easytutorial.in/question/47254

